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Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer any TEN nrm_mﬁobm.

Write down the Zméeob,m forward difference

formula to find =~ . e X .
: dx - :
Ayl Lafler  paGamsdyu  esHures @m%qmgm
M.e - X = X - 6D ST PQS: @W%q&asm TUPES.
x
Write down the mwgvmow,m W rule.

hmomm%&q W QE%QE ﬂ@@_m..

What is Trapezoidal rule and write its down?
7 emiLe eflenws eremen eremuang ﬂ.,@@ﬁ.
If .

o8 B, a1l 02T 34
fa): —13 23 899 17315 35606
Find f(18).

T Bsc (M)

State two point-Gaussian formula to evaluate

w\ (x)dx .

._.\ARVQR% y E%E_b@@._meaqmz @@L%@w&@,ﬁm:@-
-1 .

snerdlen @9:@@3@: @m.%qmmsmm YD

Write down $6 formula om improved Euler’s
method.

518055 @deia Gap edrses awss.

Write down >m.vam vum&o.ﬁo?ooﬁooﬁom formula.

<L 1b-e1 Gy SLTT-&ELNT @SHTS5MS 6T(PSIS.
PART B — (5 x 5'= 25 marks)

Answer any H.,H/Jw questions.

m,:a. \c. 5).
£: 15 20 25 30 85 .40
fix): 3.375 7.0 -13.625 24.0 38.875 59.0

f'(1.5) ewws snams.

Find f'(x) at x=1.2,

f'(x)g x=1.2 -6 sneaws.
x:. 1 2 8-4 .5
f@): 0 1 5 6 8
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i an;rs o) Finje 2

X 3 5 11
fx): -13 23 - 899

arafled f(18) -érwHliwus sreams.

27 34
17315 35606

5.  Write down the error in Simpson’s formula.
Avsafier @ETEAS 2 drer g5 D@ awss.
6. Write down the Newton’s central difference

formula to compute y"(x,).

Q:Ak.ov-%w safiuugnsrer Byl aflear  wgHo

clisglure Gadrsms ass. -
N _ g\t
7.  Write down the Simpson’s hwu rule.

3

..,m_bmm%aﬂ ﬁ
8

u 2%eugl %%%E CT(LDGI.
8.  Write down Smm&m s rule.
GeuL_cvev Qm,_m_msE TSI

9. What is the Stirling’s formula for computing n!?

n! safitiughsrear aviy Tellkicy GSHTsms eTHsIs.
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Ditdovencot and  Numopied) Fnadyara.
15. Let _ e®=1, e'=272; =7.39; ¢=20.09 and

A -
e* =54.60 Use trapezoidal rule to evaluate ._. e*dx.
, s
=1, e'=272;
e* =54.60.

e’ =1.39;
%,%SE

€®=20.09 Hmw

j.q&@.c::u_la.o uwerL RS

4

._.m.a dx e wlienu sefiés.
Q _

o I

16. Oon%ﬁo the value om ._. > using m.E%mo.c,m ﬁ.J

1+x° 3
rule.
%Emg@ ﬁWw %%QE BQEE% ._.H+R -6 S%D%E
Sanll&a,
_ &R ik : ,
17. m<&cmﬂm ._. using Weddle’s rule,
i | 1+x% SR

Qeueved  alflenwity EE@E@@% ._.

~emenT
1+x°

wEHNAHS.
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18.

19.

20.
X

fx):

24.

Hm MQ Hllmu.a:. %ovno.o&uﬁﬁo Xo.w_vooﬁ,.mgg

3 places of mon.ub&m using Taylor’s method.

dy
&R

epem mm_b 3@:@@%5@. QFEQEQ @ums.emsﬁr_.

em .maamaa

C..mo .Eomam ..Bm.ﬂrom to find. (0.2) for y, ,n”a.lk.h
y(0)=1.

WésmiT® @o%emsﬁr_ rg@EB% qu mv aflem E%E@E
.e, =x— .e .Xov H ﬂac_&e@ aqag.m

»

PART C — (3 x .Ho = 30 marks)
Answer any THREE pswmﬁmbm.
Use m_ﬂu:.bm.w .mou.EEm. to find £(0.5)
035 040 045 050 055 060 0.65
1.521 1.506 1.488 1.467 H“%m#‘ HWHm _._.-mmw

avigfeln  GSHrsamsLs CE&E@M% ['(0.5) enens

STETS.
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Use %: oamu w ‘K Bmegm 8 mbm 28 mv m,H.oB
.e y- x; Xov 2; k=01

dgeug  euflens
¥(0.2) fle
h =0.10mHg srems.

E%EB%

R-K eI
L (0)=2;

_b%r_asr_. y=y-x;
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—=1- NRQ. Q_on.ua. ﬂ..m%@,. QAO._MV-&H,E%DQE..

22

23.

f@):  1.10517

Find 7'(0.4) using Newton’s backward difference
formula.

£'(0.4) -en ..s%n_@c Pulraled  GeGeammsSu

| sHwuns GsHrsams LwaTUBSS sramrs.

% - 01 _ +02 . 038 0.4
1.22140° 1.34986 149182

1
Evaluate Tuh dx by dividing the raage of

integration into 4 equal parts using Simpson’s

& rules.

3

Ogrensut el eigeng 4. s unshiserts 19MEE

i
Sibaafen W aflflanwis QaruHil T%&R -am odlianu
0

AT Fs.
Using modified Euler's method solve at xz=0.1
dy 2x
—=g—-—1y y(0)=1.
= ¥(0)=1
2pullev e peianiu@ssiu L peomeILs
LWSTLHSE] |JTN%“ %oqu@e.aWuo.,._a&e
yeraflulled Erdss. |
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